RERIRESE
Standard Savera Guide

@ Savera

Elevator System Solutions




X203

ZdhSuper (B4 B#

HTEMESTE, RIEBRAERLHEHE S TISO74658r £ Super
(B S5, ERTEEANO - R/ARIEE GHED) FUREAHO - 1.6:8/708
i (T . HAIREREZYE, BER—ESHRERMRTUEIFH2
X, 3XASTITERE, BEMALUSEAAFERKENSHEREE T,
ERTAITEER.

Standard SAVERA Guide

Thanks to our exclusive production system, we are capable of reducing
certain tolerances established by the ISO 7465 Standard in the
manufacture of the Super Line, wich allows its use in lifts with speeds
between 0 and 1m/sec (cold drawn) and 0 and 1,6 m/s (machined).
Savera offers in this line, moreover, delivery by contract, with the last
section cut to measure and delivery of guide rails packed in bundles of
2, 3 and 5 units. This way you can make up any required height and
send the guides directly to the job site, avoiding additional packing
operations.




L L= 5000u2
L=5000 +5(T45/A T50/A) ’

L \ I : W || di | Uy
L Ra 251 max.
Rt (mm)
Dimensions (mm)
bit1 hqzoz20 K2 0,15 P£050 rs m1+°’05 ma i U1£0,10 Up 2 0,10
-0 -0,06 ik LR

T45/A 45 45 5 5 1 2 1,97 2,5 2 3,5 0,7
g TS50/A 50 Afgm —— :5010 = 5 1 fa = 1,9; 2,5 2 3.5 0,7
g bq£1,50 Bit:,?s h+o,08 I-o k4 _'0 ka o Mo € gzours f£075 p£075 rs my _'0 mz-u,os U4+ 0,10 Uz 0,10
S T65/A 65 54 - 2 7.9 . 20 ; 5 4 5,8 . 3 2 1,97 2,5 2 3,5 0,7
§ T70/A 70 65 . - 9 - 34 6 6 8 . 1,5 3 2,97 319 3 28 0,5
ﬂﬁi T70-70-9/A 70 70 . 2 9 J 358 79| 8 5 8.5 . 3 3 297 35 3 2ib 75
& T75/A 5 62 - E 10 - SOH R 7 9 = 1.5 3 2,97 3.5 3 2,5 0,5

T80-80-9/A 80 80 - . : 9 2 . . . 9 3 3 207 3,5 3 2,5 0,5

T82/A 82 68 . - 9 3 34 75 6 8,25 3 3 2:97 35 3 5 0,5

T89/A 89 62 . 3 16 - 34 10 8 11 3 6,4 BTSN 4N 8635, 2.0 0,5

T90/A 90 i . - 16 £ 42 10 8 10 . 4 6,4 6137 4 6,35 25 0,5

T125-L1/A 125 68 . g 5 9 6 8,25 3 3 2,97 3.5 3 2,5 0,5

T75/B 75 62 61 138 10 5 30 8 T 9 3 3 2,97 3.5 3 2 0.4

T78/B 78 56 558 1381 10 3 264 BT 6 8,5 2.5 3 2,97 3.5 3 % 0,4
- 1828 82 68 66,6 111 9 : 34 75 6 8,25 3 3 2,97 3,5 3 2 0,4
g T89/B 89 62 61 156! 16 = 34 10 8 11 3 6,4 637 W7 48 NR a5 1,758 035
é T90/B 90 75 74 156 16 . 42 10 8 10 4 6,4 6. 370 B4 N6 35 {550 835
..E,_ T114/B 114 89 S8 EI561 BHI6 ) 38 9,5 8 17 4 6.4 6. 370 I 140 6135 1.5 0,3
g T125/B 125 82 S 156 BTG 7 42 .10 8 12 4 6,4 6,37 7,14 6,35 1ide 0,3
T T12741/B 127 89 B8 1156 =16 - 45 10 8 it % 6,4 6,37 7,14 6,35 -5 0,3

T127-2/B 127 89 B3 EI56 I 6 " Sl 08 SN2 78 B 610 5 6,4 03 Ndal BEIaS 1.5 0.3

T140-1/B 140 108 107 193 19 - DAV 2T 27 59 5 6,4 6.3 140 635 155 0,3

T140-2/B 140 1028 S04 M F1931 82816 . G (TRl e | TiE 5 6,4 6.5 SR 148 R 635 145 0,3

T140-3/B 140 127 126 193 31,75 2 o7 SO N7 S8 0514 5 6,4 6,37 7,14 6,35 ke 0,3




L1
glo|Y  I/—m/———1Y| =
e —
| n )
| S L)
<
x
=

mf/«:w

hy

S, EEWAMBRERTMSH . EERAMFLE / Dimensions and distance between holes, fishplates and bolts

EEIEIR R RO FLEE (mm.)
Distance between holes,fishplates and bolts(mm.)

ﬁi d b, b3%0,20 |1’_'§' £020 134020 V fg‘ e oo

T45/A 9 50 25 160 65 15 8  M8X25 A8

T50A 9 50 30 200 75 25 80 BMBXo5H AT

% d  di by b£020 Ty L:020 ht020 V'3 (E
o TeSA 105 65 40 160 65 15 8  MI0X25  A-10
8 T70/A 125 WocE B 42 250 105 25 10 Mi235  A-12
ﬁ T70-70-9/A 13 : 70 42 250 105 25 10 MI12x35 A2
X rrsma 430 26 0 42 250 105 25 10 M12x35  A-12
T80-80.9/A 13 . 80 42 250 105 25 10  MI2x35 A2
TS2/A 428 o6 80 508 216 81 27 10 Mi2x35  A-12
T89/A g3 o6 oo Bz o 305 1143 381 13 Mi2x35  A-12

TI0/A 2 | 1260 |90 | 572 Gl | cEE | B 13 MI2x35  A-12
SO 17 33 130 794 305 1143 381 18 MI6x50  A-16

T75/B 3. L. 26: | 70 42 250 105 25 10 Mi2x35  A-12
T78/B iz 6 BT 42 250 105 25 10 M12x35  A-12

- T82B 43 [Bo6 Sis0ts [ W5ain 216 81 27 10 MI2x35  A-12
% T89/B 13| (260 Sogs T 305 1143 38,1 13 M1235  A-12
& TeO/B d3 o6 INO0ES BRa7ioRE S an5 i (S dfaial ag 13 M12x35  A-12
= T114/B 17 1830 120 70 305 1143 381 18 M16x50  A-16
E T125/B d7 0 [ F23 isen IRzl Biaps il & 1438 = ah 18 MI16x50  A-16
T 11248 17 830 120 | 7o | 305 | 1443 38 18 MI16x50  A-16
T127-2/B £/ NG BEEoN BTG BRaabE S s s St 18 M16x50  A-16
T140-1/B 21 40 140 92,1 380 1524 318 28  M20x65 A-20
MEO2EM 21 40 140 921 380 1524 318 28  M20x65 A20
T1403/B 21 40 140 921 380 1524 318 38  M20x80 A20



\ T 11 oz AR

: : ‘ @ @ b — Standard fishplate.

I s 1t VUL

Special fishplates in Fishplates catalogue

ISO 7465:2007

General Characteristics of .
the Guides
PRI HUH 6 I Mechanical Characteristics
Standards iR ERRA AEE
Breaking point Yield point Elongation
1SO 7465 N/mm? N/mm?2 min. % min.
A5 EE>5mm=8mm
URIZA0e Cold drawn blade=5mm <8mm 470 - 840 355 8
ANSI A 17-1 (EN 10277-2) _
ARG EE>8mm <10mm ;
BS 5655 Cold drawn blade>Bmm<10mm 470 - 840 255 12
DIN 15311 (EN 10277-2) :
%4 B E>10mm 16mm
JIS Cold drawn blade>10mm=16mm 420 -710 300 12
AFNOR NF P 82/251 '2%22:7?2'7
‘B GEs16mm
GB/T22562 - 2008 Blade <16mm 410-520 275 22
—E,I-arﬁd]ETgfnﬂm 410 - 520 265 22
M

Chemical Composition
C% Mn% P% 5%  Si%
Max. Max. Max. Max. Max.

iR

Cold drawn 047 14 0045 0045 04

ML

Machined 021 15 0045 0,045 04



HASH
Technical Characteristics

s Seﬁci%n V\;’i;iht 3 bex Waex Tx lyy Wyy iyy

cm2 Ka/m cm cm4 cm 3 cm cm 4 cm 3 cm

T45/A 4,25 3,34 1,31 8,08 2,53 1,38 3,84 1,71 0,95

§ T50/A 4,75 3,73 1,43 11,24 3,15 1,54 525 2,1 1,05
.*g T65/A 6,24 4.9 1,71 20,09 5,44 1,79 10,92 3,36 1,32
o T70/A 9.4 7,379 2,034 40,95 9,169 2,087 18,86 5,389 1,417
8 T70-70-9/A 11,25 8,83 2,11 52,81 10,79 2,16 24,62 7,02 1,48
e ELSIA 10,91 8,564 1,861 40,29 9,286 1,921 26,47 7,06 11557
i% T80-80-9/A 13,56 10,65 2,32 80,2 14,21 2,44 38,83 9,7 1,69
S (E32A 10,91 8,564 1,998 49,31 10,27 2,126 30,17 7,358 1,663
T8IIA 15,77 12,38 2,032 59,83 14,35 1,948 52,41 11,78 1,823
TI0/A 17,25 13,54 2,612 102 20,86 2,431 52,48 11,66 1,744
T125-L1/A 14,39 11,29 1,65 56,46 10,97 1,98 107,88 17,26 2,74
T75/B 10,91 8,564 1,861 40,29 9,286 1,921 26,47 7,06 1,557
T78/B 9,847 7,73 1,645 29,92 7,564 1,743 26,39 6,766 1,637

E T82/B 10,91 8,564 1,998 49,31 10,27 2,126 30,17 7,358 1,663
‘= T89/B 15,77 12,38 2,032 59,83 14,35 1,948 52,41 11,78 1,823
& TouB 17,25 13,54 2,612 102 20,86 2,431 52,48 11,66 1,744
% T114/B 20,89 16,4 2,865 179,3 29,7 2,93 108,6 19,05 2,28
H T125/B 22,82 17,91 2,43 151 26,16 2,572 159,1 25,46 2,641
2 Ti271B 22,74 17,85 2,77 187,9 30,65 3,065 149,9 23,61 2,361
= T1272B 28,72 22,55 2,478 201,7 31,17 2,64 229,9 36,2 2,829
T140-1/B 35,15 27.59 3,236 403,3 53,32 3,387 309,7 44 24 2,968
T140-2/B 43,21 33,92 3,484 456,7 68,01 3,251 358,2 51,18 2,879
T140-3/B 57,52 45,15 4,418 947,5 114,4 4,059 466,7 66,67 2,848



gl HAnL
S Cold drawn Machined
Parameter | 433/ Tolerance |z #molerance

BHE

Straightening m

X FRE

Centring

FHEE
Guide height

Fi7fE

Parallelism base

= A 5]
Maximum clearance

(1% - 1)
(key-keyway)

HHAE
Roughness

NSRS H R

Data indicated in “Dimensions” table

0,08 mm

0,15 mm

#h[5) Long.

1,6 p max.

#[5 Transv. 08-32p

R max. 2mm/5m

10,10 mm

£0,20 mm

+0,20 mm




RideSuper -

B BT R AR U (7] ) 35 www.saveragroup.com
Current updates available on the web: www.saveragroup.com

Rev. 04/14

EHIRESHT
Standard Savera Guide

EfhihE

Savera China .

Tel: +86 21 51748778 Fax: +86 21 51748712
Email: shanghai@saveragroup.sh.cn

= iR R RS 166 S AR R A A E 2042
20/F Mirae Asset Tower, 166 Lujiazui Ring Road,
Pudong Shanghai, P.R. China

Postcodefiitm: 200120

AR ENEHRRARSHNERATE

Beijing Shougang Savera Elevator Guide Rail Co., Ltd.
Tel: +86 10 60259670 Fax: +86 10 60259347

Email: sal.dept@saveragroup.bj.cn

ERAFEH

Huangcun, Daxing, Beijing, P.R. China

Postcodef4i: 102600

TR LN F REBHERFEERAE

Suzhou Savera Shangwu Elevator Riding System Co., Ltd.

Tel: +86 512 63244618 Fax: +86 512 63245658
Email: shangwu_sales@saveragroup.js.cn
REFMN R T ERARRX A

West Beishe, Wujiang, Jiangsu, P.R. China
PostcodefB4m: 215214

REEHNBEBHERFERRAT

Tianjin Savera Elevator Riding System Co., Ltd.
Tel: +86 22 26999008 Fax: +86 22 86990080
Email: tianjin_sales@saveragroup.tj.cn

HE R R AR Al X A RFHE Tl
EEARENRITH2S

2 Jingyuan Road, East Jinwei Road,

Beichen Science and Technology Park,

Tianjin Hi-tech Industrial Park, Tianjin, P.R. China
PostcodefB#w: 300400

INEENEBRNEREFIRAE

Guangzhou Savera Elevator Riding System Co., Ltd.
Tel: +86 20 39965678 Fax: +86 20 39965663
Email: guangzhou_sales@saveragroup.gd.cn
hEMTES X AREER X ERE365 2

No. 2 South Guomao Avenue 636, Shilou Town,
Panyu District, Guangzhou, P.R. China
Postcodefi%i: 511447

HIEERLERAR

Zhejiang Hitone Steel Product Co., Ltd.

Tel: +86 573 84191888 Fax: +86 573 84191666
Email: haitonggangye@yahoo.com.cn

T ERENRERE TIER18S

18 Wuzitang Road, Weitang Town, Jiashan city,
Zhejiang, P.R.China

Postcodefii#&: 314100

@ Savera

Elevator System Solutions



